Name: Class: Date:
Irrational Exponents
1. Which of the following is equivalent to 9ﬁ * 967
. 93 c. 9° . 9V6
b 816 d. 81° £ 81°
2 Which of the following is equivalent to 6 2 *2 # 629
62+ 362 .. 36
b 3674 o 36D e
____ 3. Which of the following is equivalent to 6ﬁ g Sﬁ?
2 6 . 6V3 e. 6°
b 303 d. 30° £ 300
4. What is the value of (9ﬁ)ﬁ?
H(2+2)
5. What is the value of =————?
S(2-2)
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Name:

10.

Which of the following is equivalent to 4

2 42 c. 16“/2
4\/Z 4 16%

Which of the following is equivalent to 3(

9(«/5+ 1)

c. 9%
b. 9\/Z 4 92

Which of the following is equivalent to 9

3

a. 81 810
b 93 d. 943
What is the value of (Sﬁ)ﬁ?

2<J§+3)9

What is the value of =——9
2<J§ -3)

€.

f.

f.

€.

f.

5

2

42

[E—

3(2+ «/5)

6

2

43+D*3J5?

4

6*967

81
90

6

%4
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